AEEFR 3

A #L #IT A FE
(S0 74EJE)
FEEROE S |7 FRE AN K B|SM744H2 8 BT
T F 4 |JLUEL/NERN T — RS T H
T = % gr |[FHESERJUE LT RS JuE il N
AN 3T |58 —AEaE=s
REHEE B |¥1,679,000H
A AL 3 1t K [6) ik ES
AFLFE (B X34 F7) A FL % B A KL & Fx NFL%A

I G = N 4 B X & %t 1,672, 000

% X & # sl 1, 665, 000/

= J: HH 1, 660, 000

= B it e 1, 660, 000

% X & # W 1, 630, 000/

IS + 7S %0 1, 660, 000/

[N i) H 1, 650, 0001

g B B X &t 1, 655, 000/

g fif] FH 1, 650, 000

B X & %t [ = < MNALEEIE

% FLF MRSt BRI % FL %R 1, 630, 000

1 0 %ITAHE 3 DHHAINE L& 5 Lo AL TH 5,

AL (FALBEEREHEEX 1 00) =

97. 1%




